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Table 2 on page 7 should be replaced with the following table:

It should read as follows:

'n L . iy

I U 0y O
1 0.978 0.9560 1 0.956
5 0.171 0.0292 25 0.731
7 0.108 0.0117 49 0.572
11 0.044 0.0019 121 0.234
13 0.028 0.00078 169 0.133
17 0.015 0.00022 289 0.065
19 0.0098 0.00010 361 0.035
2 — 1.000 — 2.725

Page 8, the following equation is incorrect: Fp = %(7)'('258 = 2.726
Fuo = 222 = 2725
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Table 2 on page 8 should be replaced with the following table:

) b nling 2 iy 2
I 1 N 1D H 1D
1 1.000 1.0000 1 1.0000
5 0.175 0.0306 25 0.7646
7 0.110 0.0122 49 0.5982
11 0.045 0.0020 121 0.2451
13 0.029 0.0008 169 0.1386
17 0.015 0.0002 289 0.0680
19 0.010 0.0001 361 0.0363
2 — 1.0460 — 2.8508
. L 2.726 2.8494

Pg 9, the following equation is incorrect: F, = 1000 = 10459 = 2.726

It should read as follows:

F, = 2725 _ 28508 _ ;5

1.000 1.0460
Table 1 on page 9 should be replaced with the following table:
) ' sling o8 i, o8
I 1 O 1D j 1D

1 1.000 1.0000 1.0000 1.00000
5 0.175 0.0306 3.6239 0.11084
7 0.110 0.0122 4.7433 0.05790
11 0.045 0.0020 6.8095 0.01379
13 0.029 0.0008 7.7831 0.00638
17 0.015 0.0002 9.6463 0.00227
19 0.010 0.0001 10.5439 0.00106
2 — 1.0460 — 1.1922

Pg 9,the following equation is incorrect: F g _grg = %ﬂ = 1.140

It should read as follows:

Fur-str =
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